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Dhgn_j_gpbb�b�k_fbgZju 

Bgklblmlhf�\������]h^m�hj]Zgbah\Zgu� 
• IX�F_`^mgZjh^gZy� Q_lZ_\kdZy� dhgn_j_gpby� ³:gZeblbq_kdZy� f_oZgbdZ�� mk�

lhcqb\hklv�b�mijZ\e_gb_�^\b`_gb_f´��ihk\ys_ggZy����-e_lbx�kh�^gy�jh`^_�
gby�G�=� Q_lZ_\Z����–���bxgy��Bjdmlkd�–�ha� ;ZcdZe� 

• IX�;ZcdZevkdZy�rdheZ-k_fbgZj�fheh^uo�mq_guo�³FZl_fZlbq_kdh_�fh^_ebjh�
\Zgb_�b�bgnhjfZpbhggu_�l_ogheh]bb´����–���hdly[jy��Bjdmlkd�–�:g]hkhedZ� 

• gZmqguc�k_fbgZj�³Eyimgh\kdb_�ql_gby´����–���ghy[jy��Bjdmlkd� 

K\yab�k�\maZfb 

GZ�[Za_�B>KLM�KH�J:G�nmgdpbhgbjmxl�Mq_[gh-gZmqgu_�p_glju� �MGP���
kha^Zggu_�kh\f_klgh�k�Bjdmlkdbf�]hkm^Zjkl\_gguf�mgb\_jkbl_lhf��B=M��b�FZ]�
gblh]hjkdbf�]hkm^Zjkl\_gguf�mgb\_jkbl_lhf� 

<�MGP�B=M–B>KLM�KH�J:G�ijh\h^blky�ih^]hlh\dZ�\ukhdhd\Zebnbpbjh�
\Zgguo�ki_pbZebklh\�b�\_^mlky�kh\f_klgu_�bkke_^h\Zgby�\�h[eZklb�fZl_fZlbq_�
kdhc�db[_jg_lbdb��kbkl_fgh]h�ZgZebaZ��bkke_^h\Zgby�hi_jZpbc�b�gh\uo�bgnhjfZ�
pbhgguo�l_ogheh]bc� 

Khljm^gbdb�BgklblmlZ�\ha]eZ\eyxl�� dZn_^ju�\�B=M����dZn_^jm�\�<hklhq�
gh-Kb[bjkdhf�]hkm^Zjkl\_gghf�l_ogbq_kdhf�mgb\_jkbl_l_��\_^ml�ij_ih^Z\Zl_ev�
kdmx� jZ[hlm� \� ;ZcdZevkdhf� ]hkm^Zjkl\_gghf� mgb\_jkbl_l_� wdhghfbdb� b� ijZ\Z��
Bjdmlkdhf�]hkm^Zjkl\_gghf�l_ogbq_kdhf�mgb\_jkbl_l_��Bjdmlkdhf�]hkm^Zjkl\_g�
ghf�i_^Z]h]bq_kdhf�mgb\_jkbl_l_��Bjdmlkdhf�]hkm^Zjkl\_gghf�mgb\_jkbl_l_�im�
l_c�khh[s_gby��Bjdmlkdhf�\h_gghf�Z\bZpbhgghf�bg`_g_jghf�mqbebs_� 

Ih^]hlh\e_gh�^\Z�mq_[guo�ihkh[by� 
1. ;me^Z_\�:�K��F_lh^u�\hafms_gbc�\�aZ^ZqZo�hilbfZevgh]h�mijZ\e_gby��Mq_[�

gh_�ihkh[b_��–�MeZg-M^w��Ba^-\h�;mjylkdh]h�]hk��mg-lZ��������– 64 k� 
2. Jh`dh\�>�F��� JmkZgh\� <�:���Rbrdbg� =�F��Fh^_ebjh\Zgb_� l_ogheh]bq_kdbo�

ijhp_kkh\� \hkklZgh\e_gby� ^_lZe_c� f_oZgbq_kdbo� fZrbg� ]Zev\Zgbq_kdbfb�
kieZ\Zfb��Mq_[gh_�ihkh[b_��−�Bjdmlkd��B=K:��������− 152 k� 


